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L Piaget

Which one of the following is an
example of a fine motor skill :

(A) Climbing- (B) Hopping

(C) Running (D) Writing

I. Q. range of feeble minded children are
in the range of :
(A) 111-120
(C) 81-90

(B) 91-110
(D) 71 - 80

Which of the following glands do not
influence personality development : -
(A) Pituitary gland

(B) Adrenal gland

(C) Thyroid gland

(D) Pineal gland

Who is the father of "Theory of
Multiple Intelligence" :
(B) Skinner

(C) Gardner (D) Vygotsky

What is meant by Schema :

(A) Organized packets of information
stored in memory -

(B) Chunking mechanism

(C) Learning technique

(D) Defence mechanism

*If a child writes 36 as 63 and b as d, this

is a case of :

(A) Visual impairment

(B) Learning disability
(C) Mental impairment.
(D) Mental retardation
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A 16 year child score 75 marks in I. Q.
test. His mental age will be :

(B) 14 years
(D) 12 years

(A) 15 years
(C) 10 years

The social nature of human personality

is: '

(A) Acquired

(B) Innate

(C) Partially acquired and partially
innate

(D) None of the above

"Learning will proceed best if
motivated." It stated by :

(A) Anderson (B) McDougall

(C) Kelly (D) Maslow

Main component of Glaser's model of
teaching is :

(A) Instructional objectives

(B) Entering behaviour

(C) Performance assessment

(D) All of the above

Which of the following is a secondary
motive :

(A) Aggressiveness

(B) Feeling of Security

(C) Sex

(D) Hunger

The major factor of Linguistic
development is :

(A) Emotional development

(B) Physical development

(C) Mental development

(D) Moral development
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The Thought Communication of the
teacher in a class should be :

(A) Monarchic  (B) Democratic
(C) Mixed (D) General

Student's learning difficulties can be

best addressed by :

(A) Advising them to work hard

(B) Establish good relationship between
students and teacher

(C) .Supervised study in library

(D) Remedial teaching

Which of the following is the correct
sequence of "Motivational Cycle" :

(A) Drive — Need — Incentive

(B) Need — Drive — Incentive

(C) Incentive — Need — Drive

(D) Drive — Incentive — Need

To maintain good discipline in class, a
teacher should :

(A) Be able to enforce his/her orders

(B) Train students for self-discipline

(C) Teach very effectively
(D) Behave friendly with the students

What is the another name of Three
dimensional theory :

(A) Structure of Personality theory
(B) Structure of Learning theory
(C) Structure of Intellect theory

(D) None of the above i
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A teacher took her class for a field visit
and discuss the visit after reaching
school. It indicates :

(A) Assessment for Learning
(B) Learning for Assessment
(C) Learning of Assessment
(D) Assessment of Learning

You can motivate students in a class as
a teacher by : '

(i) Issuing instructions

(i) Using a black-board

(i) An example/illustration

(iv) Student's participation

(A) 1,11, 111 (B) ii, iv

©) 1, iv (D) All of the above

A teacher, to satisfy various learning
methods of his students, uses :

(A) Piaget's theory of cognitive
development

(B) Kohlberg's theory of moral
development

(C) Gardner's theory of multiple
intelligence

(D) Vygotsky's theory of social and
cultural development

The objective of "Operation Black-

board" is : X :

(A) To recruit teachers in all Primary
Schools 3

B) To use.Black-boards in teaching

(C) To provide materialistic facilities

(D) Universalization = of Prjmary
_Education
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The most important indicator of the
quality of School Education is :

facilities in the
School

(B) Text-books and teaching-learning
material

(C) Classroom activities

(D) Attainment level of Children

Periodic tests be given to students to :

(A) Inform student's progress to their
guardians

(B) Undertake the complete curriculum
as required under rules

(C) Train students for exams

(D) Take corrective measures on the
basis of feedback from the results

The term inclusive education refers to :

(A) Education of Scheduled caste/
Scheduled tribe Children

(B) Education of Children of Minority
groups

(C) Education of Children with
disabilities along with normal ones

(D) Education in multigrade settings

You are taking a class and children are
requesting you to allow them to watch
the Snake Charmer conducting a show

- nearby, you would like to :

(A) Counsel the children and involve
them into classroom activity making
it interesting.

(B) Allow them for 5-10 minutes as
they would not take interest in the
lesson otherwise.

(C) Leave the class and ask the Snake

* Charmer to go way.
(D) Motivate them to behave properly.

P.T.O.
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Within a  class, inter-personal
relationship can be measured by :

(A) Sociometry

(B) Group Rating Scale
(C) Case History Method
(D) Autobiography

Who was the propounder of "Zone of
Proximal Development" (ZPD) :

(A) Kohlberg

(B) Vygotsky

(C) Jerome Bruner
(D) Gagne

'Application’ is the level of which of the
following learning areas :

(A) Cognitive
(B) Affective
(C) Psychomotor
(D) None of these

Which of the following includes

diagnosis and remedy : -
(A) Measurement
(B) Assessment .

(C) Examination

~ (D) Evaluation

A psychological method related 'to
know the behaviour of a person by
observing him' is :

(A) Introspection method

(B) Case history method

(C) Extrospection method

(D) Developmental method
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First Language — English

Direction (0. No. 31-35) : Read the passage

given below and answer the questions that

follow by selecting the most appropriate

option. .

Although cynics may like to see the
government's policy for women in terms of the
party's internal -power struggles, it will
nevertheless be churlish to deny that it

- ‘represents a pioneering effort aimed at
bringing about sweeping social reforms. In its
language, scope and strategies, .the policy
document displays a degree of understanding
of women's needs and is uncommon in
government pronouncements. This is due in
large part to the participatory process that
marked its formulation, seeking the active
involvement right from the start of women's
groups, academic institutions and non
government organisations with grass roots
experience. The result is not just a lofty
declaration of principles ‘but a blueprint for a
practical programme of action. The policy
delineates a series of concrete measures to
accord women a decision making role in the
political domain and greater control over their
economic status. Of especially far reaching
impact are the devolution_ of control of
economic infrastructure to women, notably at
the gram panchayat level, and the amendments
proposed in the Hindu Succession Act of 1956
to give women coparcenary rights.

31. Which of the following is true about the
policy ?
(A) This is another pronouncement by
the government.
(B) Itis a pioneering effort. :
(C) It has made many big declarations.
(D) In its formulation, participatory
approach was not followed.
32. Which of the following is one of the far
reaching impacts of the policy ?
~ (A) Give women coparcenary rights.
(B) Reservation for women.
(C) Creating an equal opportunity
police force.

(D) Accord women a decision making °

role in political sphere.

Set-A
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" 33. Which of the following is opposite in
meaning to Toffy’ as used in the
passage 7
(A) Sublimated (B) Humble
(C) Undignified (D) \Exalted

34. Which of the following words is the
most opposite in meaning to 'Sweeping’
as used in the passage ? :
(A) Limited (B) Half hearted
(C) Acceptable (D) Incomplete

35. Which of the following is nearly the -
same In meaning as the word
'‘Devolution’ as used in the passage ?
(A) Relegation  (B) -Succession
(C) Deployment (D) Decentralisation

Direction (0. No. 36-40) : Read the extract
given below and answer the questions that
follow by selecting the most appropriate
option. '
O, what can ail thee, knight at arms,
Alone and palely loitering ?
The sedge has wither'd from the lake,
And no birds sing.
O, what can ail thee, knight at arms.
So haggard and so woe begone ?
The squirrel’s granary is full,
And the harvest's done.
I see a lily on thy brow,
With anguish moist and fever dew;
And on the cheeks a fading rose
Fast withereth too.
I met a lady in the meads,
Full beautiful-a faery's-child;
Her hair was long, her foot was light
And her eyes were wild.

36. The poet asks the knight the cause of
his :
(A) Wandering
(C) Arms

(B) Amusement
(D) Loneliness



37. The knight is full of :

(A) Pleasure (B) Sorrow
(©) Joy (D) Pain
38. It is the season of :
(A) Rainy - (B) Summer
(C) Winter (D) Autumn’
39. How was the lady whom the knight
met ?
(A) Ordinary (B) Light
(C) Wild (D) Fascinating

40. The poet sees a lily on the knight's

brow. What does it mean ?

(A) There was a lily. flower on his
forehead. : >

(B) His forehead was white.

(C) His forehead was bloodless and so
it looks white.

(D) His forchead was shining in the
SNOW. '

Direction (Q. No. 41 & 42) : The following
questions consist of words underlined,
followed by four alternatives. Choose the word
or phrase that describes the meaning of the
words underlined.

41. He is always above board in his dealing
with his customers :
(A) Honest
(B) Frank
(C) Honest and frank
(D) Strict

42. Treadily closed with his offer :
' (A) Disagreed (B) Accepted
(C) Rejected (D) Agreed

Direction (Q. No. 43 & 44) : The following

. questions consist of words underlined,
followed by four alternatives. Choose the word
or phrase that is opposite in meaning to the
words underlined.

43. To get into hot waters :
(A) To have patience
(B) Steady state of mind
(C) To escape from trouble
(D) To have a narrow escape

Set-A
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' 44. Your argument does not hold water :

(A) Logical
(C) Important

(B) Valuable
(D) Hlogical .

Direction (Q. No. 45 & 46) : Select the most
appropridte  alternative ~ for the given
expressions in the following questions.

45. Mania for stealing articles.
(A) Logomania  (B) Nymphomania
(C) Kleptomania (D) Hypomania

46. Walking in sleep.
(A) Somniloquism
(B) Somnambulism
(C) Obsession
(D) Hallucination

Direction (Q. No. 47) : Transform the
following sentence into negative.

47. 1was doubtful whether it was you.
(A) I was not sure whether it was you.
(B) 1 was not sure whether it were you.
(C) I was not sure that it were you.
(D) I was not sure that it was you.

Direction (Q. No..48 & 49) : Fill in the blanks
with suitable prepositions. :

48. 1 purposely refrained .............. saying
- mere.: '
(A) to (B) with
(C) on (D) from
49. He inspires respect ............. his friends. -
(A) in (B) to
(C) from (D) for

Direction (Q. No. 50 & 51) : Fill in the blanks
with appropriate conjunctions. ‘

B0, . oedusietees you wish it, it shall be done.
(A) Since (B) Because
(C) As (D) Hence

o) i e LR he was industrious, I
encouraged him. ,
(A) Because .(B) Since
(C) As (D) For

P. $50;



Direction (0. No. 52 & 53) :
option with the correct use of comparative
degree of the adjective.

52. . 1did not think it would be so difficult.
(A) It -was much dlfﬁcult than I
thought.

(B) It was more dlfﬁcult than I had
thought.

(C) It was more difficult than I thought.

(D) It was more difficult rather than I
thought.

53. Ramesh is not the most intelligent boy
of the class.
(A) Some boys of the class are as
intelligent as Ramesh.

(B) Some boys of the class are not less
intelligent than Ramesh.

(C) Ramesh is more mtelhgent boy of
the class.

(D) No other boy of the class is as
intelligent as Ramesh.

Direction (Q. No. 54 & 55) : Choose the most
suitable alternative in accordance with the
correct use of tense.

54. (A) That such a thing could happen, I
do not believe.

(B) Such that a thing could happen, I
do not believe.

(C) That such g thing could happen I
did not believe.

(D) A thing such that could happen, I
do not believe.

55. (A) No sooner did the teacher call his
name than Suresh stood up.

(B) No sooner did the teacher called his
: name than Suresh stood up.

(C) No sooner did the teacher call his
name then Suresh stood up.

(D) No sooner did the teacher called his
name then Suresh stood up.

Choose the -
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Which skills are called productive skills
in English language ?

(A) Listening and reading

(B) Reading and writing

(C) Speaking and reading

“(D) Speaking and writing

Which statement is not #rue about

continuous and comprehensive

evaluation in English ? i

(A) Assessment is a
process.

(B) It is more concerned with learning
based on understanding rather than
just learning by memorizing.

(C) It helps us to know the progress of
the learner.

(D) It is used only in examinations.

continuous

Which of the following can nof be
attained by story telling method in
English ?

(A) Enriches vocabulary

(B) Fosters Co-operative learning

(C) Leads the students to reading

(D) Improves writing skill

A person who is weak in spellings is
called :

(A) Calligraphist
(B) Pedent

(C) Cacographist
(D) Linguist

Choose the correct order :

(A) Letter, Word, Clause, Phrase,
Sentence

(B) Letter, Word, Phrase, Clause,
Sentence

(C) Word, Letter, Phrase, Sentence,
Clause

(D) Letter, Clause, Word, Phrase,
Sentence :



61.

62.

63.

64.

65.

Set-A -

APP-1

W%‘cﬁq%?ﬁ

Wﬁwﬁmwmaﬁﬁﬁ
g 8T § -

(A) IR feeprd
(B) T S Td eqasiier i faere
(C) Tt &1 T

(D)M@aamﬁmﬁwmam

&1 &FaT Bl [geRrd

“RoT 19T I A, T I B I

SUgAT Hiaisr R &R R © -
(A) TEIH TR (B) ARG BRTAH -
(C) dRmheRer @ (D) &Rl

“Hg-AT A B &5 I ST Bl A
%n

ST B RO § -
(A) TEH '(B)qsrcqrfﬁsﬁ
(C) Bt (D) A e

gefs WX O AT QR @ Saiedd
W@a@waﬁr%:

(A) AR H P& I BT -
(B) g & TR S B

(C) R §H, gud Td i S &

&1 e BT
(D) SwgF & q B 7T
“gq FHYA A Bl o9 GG ?
o A 1 H e q=E Y

iRkl § oW B -
(A) ST (B) FArgH™
(D) ST

(C) geargHrs

15 |

66.

67.

68.

69.

70.

71.

72,

(C) g

Frffaa & R ot am o3 & -
(A) g1 (B) =g

(C) S (D) d=
‘SreEe § Gy B -

A) 77 (B) T

(C) e (D) =Y

T B e A

(A) aeadd ®) Fd

(C) feea (D) <l

Rr=Rga § fpg 9= & 9o @@ e -
(A) TR (B) ST

(D) ergfed

“gedi W F By A e w o
%_

(A) TS A B R

(B) I°4 H FA HTA

(C) AT P eI
(D) SR 1 T TS

ﬁ@rwwﬁ@wgmgﬁ%
A e |
%@;a@fﬁﬁaﬁq%zﬁ,wfﬁmﬁa
g3 QAT

SugE Saar R B A B -

(A) sRd (B) Su=asTl

(C) &4 (D) g=esi
eyt Fpa” B 9 F IR FE E -
(A) g (B) faamufa

(C) faerd (D) T

PO



A ke e Tl e
(597 GEar 13 § 76 7%) % wEs aEa v
e [T FT FIT FHoTl

ST, T g @ 8 4, Wy &
I & oFET, WYST olX SoeEele Bl QA
FEM & 9 W 24l STM & | A SHET |
&g & e Bl Tl 39 gEvs ol ¥ ueiy
P UH-T% 60T & ¢ &9 A e e 3
9 BRI 5, 99 B o W A )
9% 4 9d § - 30 A, Ped @ A |
F el § St el & @ | 99 3
Eaiie M A O B s o B o M
‘TR TR TI-I TS B FEER F S
W o gar’, IR 99 W G s@ )W Ay,
dal Fed - aEl! A o @ wEE 3 9
Hebel H T @ H 2| I8 T & |

73, WA ol ¥ W ‘e I= @ o
3

(A) TEE (B) =
(C) 3/, (D) FEEt

SUYFT e F Pl B A F B
§ W BRI B -

(A) BId diicesl & S@-gad Sfa @
EER

(B) Si-a8g & Ui SUMT Td SHEON H
qEq

(C) y=vE et mar—ﬁm T I
(D) TFg I FHEM T gag el

74.

IS B0 AN & AH P SRE
gqIfeT B -

(A) &I IREdH H T9E

(B) STIfeba 91 &1 Al :
(©) TR & &= J Tyl # 79g
(D) femmi = SARea

75:

Set-A

16

APP-1

76. TEIN H YPE A FEM W OGI-gE

qifae # FER ¥ & ¥ W o 99
W%Wﬁqﬁ‘f%ﬁ

(A) FrgTar @1 99 §

(B) G I9 & 99 2
(C) fae-3&= &1 99 &
(D) TS P 96

[3=%T 2 [ gErer @ vt g8 1 g
(597 @& 11 @ 80 %) & GaE IR T
I [T FT TIT HorT |

T4 9 99K 99, T T Wl
TRl Jo A o B, A R AR g

I BT B 2 Al R, g e A,

7 gEar & g 9§ el iR =
el & ol s &, 3 ™R W80 X 9,
AT} B Al W, 1 Fofea foafad 79 @
B & i fghed, = § & dea,

& R At 3 R FER @) F 98

AT AT T Bz T A 2! T TA AT B
dl Bl R o9 w9 H fogw 39 99 TR

77. IS9P GEie F fhgw aoe -
(A) IS AH P TSH H
(B) 9IS YR U g8 aifear &
(C) “BR’ S99 @il & #
(D). T B FHia Gl H

78. HAA T 9gH TR 9= #1 o B -
(A) T
(B) Ser@wil =&l
(C) 9rq
(D) Ffem sxear o



79,

80.

81.

82.

83.

84.

85.

Set-A

(C) JArEmEl

s ¥ A g T B RRE ¥ -

(A) Bt omemrg # femfenid SR
R

(B) Tet-2a{ &Y e drmil Tl

(C) Frfe S|

(D) Ot & TGS A

qEist 5T SHR @ & § -
(A) AR (B) BHEMEEI
(D) SFIfcrare!

RSt Frl RIET H I%e © -

(A) FREE B FRew @1 8
STH-83 I [9d BT

(B) ST&gi @l R BT

(C)Wﬁa&amﬁémmr

(D) HEFI & qE H qﬁ-rm FHEMT
Ve Sifee” ST o -
(A) URITYsS
(B) dHINH
(C) T
(D) S & § &g Tl
‘G % a9 T T -
(A) TGSt (B) ITK
- (©) T (D) Ired
ooy g T A R -
(A) T (B) feemor
(C) IS (D) STIHNT

o g & 3 Rew g ¥R
FEPR B -
(A) T
(C) w9

(B) SoET
(D) i

17

86.

87.

88.

89.

90.

APP-1

TSI § T -

(A) STHHHE (B) TG

- (C) #HgE D) f&g |
g § @ g9 IR A= H B §
(A) ITE (B) faadt
(C) T=d (D) &

qEfEer & orEN Ry SW@E %,
i -

(A) TR BET B ERE g e
Bl B

B) R @ 741 WS e F g e
2l .

(©) T g @ R 37 g o
7 TG S B S o |

-(D)'msﬁ%mmaﬁaﬁqﬁ;

Rl B
R & R @ @@ oRphT BN
3.
(A) FUHY-TIT-Ta-fedl -
(B) TiieT-Sega-STa o=t

 (C) TSR
(D) Ta-TES-Ti-fee

g I gE e HT o - R @ @
Pl UlRT 8 -

(A) FRERE RO I

(B) HfileRer T4

(C) STET I

(D) T

PO,



APP-1

Second Language — English

61. In language teaching, the - term
‘backwash' has been used to refer to
(A) The way a test affects teaching

materials and classroom
management, curriculum etc
(B) The way teaching materials affect
tests and classroom management
(C) The way -classroom management
. affects tests and teaching materials
(D) The way the curriculum and
textbooks affect the teaching
learning materials

62. A grade five (Class-V) student has
- difficulty in learning to read and

interpret words, letters and other
symbols. Which of the following
language disorders may he be suffering
from ?
(A) Speech impairment
(B) Semantic pragmatic disorder
(C) Dyslexia - '
(D) Aphasia

Direction (Q. No. 63-67) : Read the passage
given below and answer the questions that
follow by selecting the most appropriate
option. :

E-learning is sensational for a good
reason. If done right, it can decrease costs and
increase performance. Also, the e-learning
course is available for others. This includes the
static e-learning course as well as any ongoing
conversations in networked communities.
Producing learning content is time consuming.
With e-learning, each time the course is
accessed your return on investment improves
because you are dividing the fixed production
~costs by the number of users. You also have
savings through decreased travel, reduced
material and hopefully improved performance.

The course can be accessed anytime,
anywhere even without internet access. Real
learning requires some failure, E-learning lets
you fail without fear. This encourages

Set-A
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exploration and testing of ideas. With the right
feedback, the combination of multimedia and
instructional design  with good  practice
activities can produce a very rich learning
experience that is repeatable. E-learning allows
you to create a standardized process and
consistency in the delivery of content. Besides,
it allows you a standardized process in a way
that classroom learning doesn't.

63. A word from the passage which means
'startling effect' is :
(A) design
(C) sensational

(B) performance
(D) multimedia

64. E-learning lets you fail without fear
because :

(A) there is no feedback.
(B) the assignments are very easy.
(C) the activities are personalized.

(D) the programmes allow for student
improvement and repetition.

65. Fixed production costs here refers to
the : :

(A) conduct of e-learning classes.

(B) not to spend on running e-learning
classes.

(C) the fee chargeable to the learner.

(D) the fee chargeable to all online as
well as offline users.

66. A standafdized process pertains to the -

(A) e-learning benefits are distributed
among all users.

(B) there is no compromise in the mode
of delivery of lessons.

(C) a fixed ' costs of all e-learning
programmes.

(D) availability of the same content to
all students.



67. A word which is 'anton'ym' of the word
'standardized' :

(A) Assimilated - (B) Systematized
(C) Differentiated (D) Stereotyped

Direction (0. No. 68-72) : Read the givén
passage and answer the questions that follow
by selecting the most appropriate option :

In every country people imagine that they
are the best and the cleverest and the others are
not so good as they are. The Englishman thinks
that he and his country are the best; the
Frenchman is very proud of France and
everything French. The Germans and Italians
think no less of their countries and many
Indians imagine that India is in many ways the
greatest country in the world. This is wrong.
Everybody wants to think well of himself and
his country. But really there is no person who
has not got some good and some bad qualities.
In the same way, there is no country which is
not partly good and partly bad. We must take
the good wherever we find it and try to remove
the bad wherever it may be. We are, of course,
most concerned with our own country, India.
Unhappily, it is in a bad way today. Most of
our people are poor and unhappy. They have
no joy in their lives. We have to find out how
we can make them happier. We have to sce
what is good in our ways and customs and try
to keep it, and whatever is bad we have to
throw away. If we find anything good in other
countries, we should certainly take it.

68. What do people think in every country ?

(A) That they are the best and the

cleverest people in the world and
the others are not so good and
clever. :

(B) That the Frenchman is very proud
of France and everything French.

(C) That we must take everything good
wherever we go.

(D) That the Englishman is the best
while Germans and Italians are not
SO.

Set-A
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What do many Indians imagine about
their country ?

(A) That India in a few way is the
greatest country in the world.

(B) Many Indians imagine that India in
many ways is the greatest country
in the world.

(C) That India is greater than other
European countries like France,
German and Italy.

(D) That India is the greatest country in
the world. '

In what respect is India in a bad way
today ?

(A) Some of the Indians are poor and
are hopeful to get rid of poverty.

(B) They are poor and unhappy
however lead a good life.

(C) They -have bad conditions and
hardly earn livelihood.

(D) Most of the people in India are
poor and unhappy. They lead
miserable lives.

What every Indian needs to throw
away ? ;

(A) We should throw away poverty that
caused misery. <

(B) We should throw away bad policies
meant for the poor.

.(C) We should throw away whatever is

bad in our customs and traditions.

(D) We must throw away all of the
other countrymen who think they
are the best and the cleverest.

P.T@:



72.

What should be our attitude towards
other countries ? R

(A) If there is anything good in other
countries, we should certainly take
it.

(B) India as had been a liberal country
ever, should assimilate all others in
the world.

(C) If there is anything aéceptable must

not be received openhanded.

(D) Whatever is good or bad should be
taken to make India great.

Direction (Q. No. 73-75) : Choose the best
alternative which the best expresses the
meaning of the following idiom/phrase :

73,

74.

765

Set-A

To beat about the bush :
(A) Try to impress with arguments.
(B) Put blame on others.

(C) Pretend to be unaware of the
matter.

(D) Come to the matter other way
round. §er

By leaps and bounds :

(A) Very rapidly.

(B) Very competently.
(C). Very slowly.

(D) Very Pathetically.

Leave no stone unturned :

(A) Take no pains.

(B) Do very relevant things.
(C) Take to fair practices.

(D) Use all available means.

20
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Direction (Q. No. 76-78) : In questions, select
the most appropriate word to fill in the blanks
given in the sentences :

76. Security of women in the big cities has

becomea. ... .- question in India.
(A) Difficult (B) Annoying
(C) Burning (D) Puzzling

77. Mrs. Monika has ........... her claim to
parental property. _
(A) given in (B) given to
(C) given off (D) given up

78. I need a beautiful ........... for new
house construction.
(A) cite (B) site
(C) sight (D) sheet

Direction (Q. No. 79-81) : In the questions,
select the word with correct spelling to fill in
the blanks in given sentences :

79. Students who have low achievement in
language are being given ............
class.

(A) remodial (B) remedial
(C) remadiale (D) ramodal
80. A good teacher always makes her/his

early grade children learn .............
carefully.

(A) alphabet (B) alphabate
(C) alphabete (D) alphabat
81. Teachers must ............. treat all of the
children.
(A) affectionately
(B) afectonately
(C) affactionetaly
(D) affectionetely



Direction (Q. No. 82-84) : Choose the word
opposite of meaning (antonym) to the given

word.

82.

83.

84.

Prelude
(A) epilogue (B) dialogue
(C) epigram (D) prologue
Prudent

(A) reliable
(C) indiscreet

(B) relevant
(D) practical

Reluctant
(A) Anxious (B) Smart
(C) Willing (D) Eager

Direction (0. No. 85-87) : Find out which part
of the following sentence  has an error
corresponding to the appropriate letter (A), (B)
and (C). If no error, mark (D).

85.

86.

87.

"~ Set-A

We are four members living in the new
house / (A)

but neither of us / is satisfied with it /
(B) ©
No error

D)

The man told to her /
(A)
that he had not brought /
B)
his dog out for a walk that morning /
. ©)
No error

(D)

Neither he nor his sister / is interested /
(A) B)

to attend the birthday party / No error
©) D)
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Which of the following is nof a reason
for the low level of proficiency in
language ? :

(A) Lack of understanding of the nature
and structure of the language and
process of language teaching
learning.

(B) Failure to consider biases that take
place in terms of caste, creed, race
and gender.

(C) Failure to appreciate the fact that
language is much more beyond the
scope of mere poems, essays and
stories.

(D) Inability to design experiments and
forecasting. :

Development of a language starts at :
(A) formal operational stage

(B) sensorimotor stage

(C) preoperational stage

(D) concrete operational stage

India has a lot of linguistic diversity. In
this context, what is the most
- appropriate  statement about - a

multilingual classroom at the -primary

level, specially class1and2 ?

(A) The teacher should . respect all
languages and encourage children
to communicate in all of them.

(B) The teacher should ignore children
who use their mother tongue in the
class.

(C) Students should be penalized for
using their mother tongue or local
language. :

(D) Schools .should admit only those
students whose mother tongue is
the same as the language of
instruction.

P e
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‘A square of area S cm’ is made by a

rope. Again a circle is made by the
same rope. The area of circle is :

(A) 4nS> ® >
41

2
© —’i ) 4—nS-

If x is a positive number and a, b, ¢ are
rat10na1 numbers, then the value of

A -1

B) 1

© 0

(D) None of the above

E2 32 and 27 =16, then the
value of x2 +y

(A) 11
© 9

(B) 13
(D) 10

When a number is divided by 11,
remainder be 1. Again quotient is
divided by 7, remainder comes 5. If the
number is divided by 77, the remainder
will be :
(A) 56
©) 12

(B) 36
(D) 28
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95. In a class children are working in

groups and are. learning concepts. This
method of learning is called :

(A) Stimulation method
(B) Induction method
(C) Participatory method
(D) Deduction method

96. The most important role of mathematics

teacher, in the class is :

(A) To solve questions by = giving
examples

(B) To make understand the use of
formulae

(C) Teaching of concepts

(D) As a facilitator to make learn
concepts

97. 'm'is defined as :

(A) in the form of © = 180°
(B) in the form of n = % ;

(C) mis aratio between the circumference
and diameter of a circle

(D) None of the above

mean of n numbers
X1,X0; %300y Xy DE. M. I %7 s
replaced by x' then the new mean is :

&) M-z +x @) EDME

nM —x +x" M—x; +x'
1 (D) 1
n n

©
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On meltmg, two cubes of side 1 cm,
four cubes of side 2 cm and one cube of
side 3 cm and one cube of side 4 cm, a
new cube is made up. The side of new-
cube will be : '

(A) 24 cm " (B) 10em

(C) 8cm (D) 5cm

A child of age 11 is able to ﬁnd'solution
of first order algebraic equation but is
not able to solve word problems. The
child is at Piaget's :

(A) Formal operational stage
(B) Concrete operational stage
(C) Pre operational stage

(D) Sensory motor stage

In a class where children are learning
mathematics, which of the following
statement is true about learning :

(A) Errors made by children indicate
that no learning has taken place

(B) Learning is effective in an
environment that is emotionally
positive and satisfying for the
children '

(C) Learning is not affected by
emotional factors at any stage of

learning

(D) Learning is fundamentally a mental
activity :
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A child, to solve word problems, usually
asks, "Should I add or subtract ?"
"Should I multiply or divide ?" such
questions of child indicate :

(A) child wants to disturb the class

(B) child has problem in
comprehending language
(C) child lacks understanding of

number operations
(D) child cannot add or multiply

To introduce the concept of fractions, a
teacher should start with :

(A) Identifying numerators and
denominators of different fractions

(B) Showing fractions on a number line

(C) Writing fractions in the form of

a
—,b#0
b

(D) Identifying fractional
things around

parts of

Let m be the mid-point and / be the
upper class limit of a class in a
continuous frequency distribution. The
lower class limit of the classis : .

(A) 2m -1 B) 2m +1
©C) m-I (D) m-2I

Which of the following is a regular
polyhedron :

(A) Triangular prism
(B) Cube

(C) Cuboid

(D) Square prism
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Measures of the angles between hour
and minute hands of a clock at 7 O'clock
are :

(A) 125°,235°
(€)= 1562 210°

(B) 135°,225°
D) 120°, 240°

[1 1 1 1 }
+ + = e e
11x2 2x3 3x4 99x 100

is equal to :
1!
A) 1l B) 1—
A) (B) %9
101 99
C) —. e
© 100 ®) 100

Kritika ordered for a cake and ice-
cream from a shop and paid Rs. 387
inclusive of taxes of Rs. 43. Find the tax
percent (%) :

B) 11.11%

(©) 10% (D) 8%

A dice is thrown two times and sum of
the numbers appearing on the dice are

noted. The number of . possible
outcomes 1is :

(A) 6 (B) 11

(©) 21 (D) 36

The product of any two irrational
numbers is :

(A) always a rational number

(B) always an irrational number
sometimes

(C) sometimes rational,

irrational

(D) always an integer
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In triangles 4BC and POR, 4B = AC,
/C = /P and 4B = ZQ. The two
triangles are :

(A) isosceles and congruent

(B) neither congruent nor isosceles
(C) congruent but not isosceles
(D) isosceles but not congruent

1 billion is equal to :

(A) 1000 millions
(B) 10 millions
(C) 100 millions.
(D) 10000 millions

Construction of a cumulative frequency
table is useful in determining the :

(A) mean

(B) median

(C) mode

(D) all the above three measures

To gain 25% after allowing a discount
of 10%, the shopkeeper must mark the
price of article which costs him I 360
as:

(A) T 450
(C) T 486

(B) % 460
(D) T 500

In a class test (+3) marks are given for
every correct answer and (—2) marks are
given for every incorrect answer and no
marks for not attempting any question.
Sameer scores (—5) marks in this test,
though he has got 7 correct answers.
How many questions has he attempted
incorrectly :

(A) 8
(©) 13

B) 11
) 15

PIE@.
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The pie chart gives the marks scored in
an examination by a student in different
subjects. If the total marks obtained
were 540, then in which subject did the
student score 105 marks :

Social
Science 65°

Mathematics
90°

</ Science
80°

(A) English

(B) Hindi
(D) Social Science

In mathematics, the way of establishing
the truth of a proposition is known as :

(A) Proof (B) Axioms
(C) Hypothesis (D) Conclusion

then
The  relation

If ™ is multiplied by x"
product becomes 1.
between m and nis :

A)ym+n=1 B) mn=1
C)m=n D)ym=-n

The ratio 2°:2%% g eqﬁal to which
of the following :

(B) 3:1

(C)y3:2 D) 4:1

The wrong number in the sequence
3.9, 1,913 17, 194s::

(A) 19 (B) 13
©) 9 D) 7
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" Driving force in an ecosystem is :

(A) Plants (B) Producer
(C) Solar energy (D) Consumer

Bioindicator of automobile emission is :
(A) Lichens (B) Mosses
(C) Lantana (D) Rose Plant

The symbol of W. W.'F‘. nature is :
(A) Eagle (B) Bear
(C) Tiger (D) Giant Panda

Important indoor air pollutant is :
(A) Radon

(B) Sulphur dioxide

(C) Nitrogen oxide

(D) Xenon

Hotspot of biodiversity is :
(A) Panchamarhi (B) Western Ghats
(C) Gir Forests (D) Madhubani

Maximum percentage comtribution to
global warming is by :
(A) Chlorofluoro carbon

" (B) Methane

(C) Nitrous oxide
(D) Carbon-di-oxide

High BOD is an indication of :

(A) Pesticide pollution

(B) Inorganic pollution

(C) Organic pollution

(D) Heavy metal pollution

Chemicals or agents that are responsible
for cancer are called :

(A) Carcinogenic (B) Mutagenic

© Teratogenic (D) Neurotoxins

PEXOL
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Ozone layer is found in :
(A) Thermosphere (B) Stratosphere

- (C) Troposphere- (D) Mesosphere

Energy flow in an ecosystem is :
(A) Cyclic

(B) Uni-directional

(C) Multi-directional -

(D) Square

_ Kharif crops are :

(A) Wheat, Gram (B) Barley, Pea
(C) Maize, Paddy (D) Wheat, Barley

Which one of the following objectives

1s not required to teach Environmental

Studies :

(A) To develop sensitivity towards the
physical and social environment.

(B) To memorize - basic scientific
concepts and principles.

(C) To provide opportunities to explore
the environment.

(D) To develop skills like observation,
measurement,  prediction ~ and
classification.

Needs of all Children for teaching-
learning process, a environmental studies
in each classroom are :

(A) Cognitive/age appropriate curriculum
(B) Conducive and non-threatening:
environment
(C) School based

reporting
(D) All of the above

assessment and

Important learning indicators of:
environmental studies are :
(A) Observation and reporting

(B) Expression, explanation and
classification 3

(C) Questioning, analysis “and-
experimentation

(D) All of the above
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135. Which of the following statement is not

136.

137.

138.

true for organic manure :
(A) It enhances water holding capacity
of soil.
(B) It has a balance of all plant
" nutrients.
(C) It provides humus to soil.
(D) It improves texture of soil.

Given below are statements about the
harmful effects of weeds on crop plants :
(i) - They interfere in harvesting.

(it) They help crop plants to grow
healthily.

(iif) They compete with crop plants for
water, nutrients, space and light. 1

(iv) They affect plant growth.

Choose the correct combination of

statements :

(A) @), @), Gv) B) (ib), (v)

(C) (iii) only (D) (@), @), (i), (iv)

The gas released during the preparation
of bread is : :

(A) Oxygen

~ (B) Carbon dioxide

(C) Nitrogen
(D) Sulphur dioxide

Which of the following represents the
correct match for items in Column A
with those in Column B?

Column A Column B
(I) Nylon (i) Thermoplastic
I pvC (ii) Thermosetting
: plastic
(1IT) Bakelite (iii) Fibre

(&) @ - (i), () - (i), @) - 6)
(B) (- (i), aD - (), () - (i)
©) O - G), (D - (@), () - (i)
(D) (@) - (i), (D - (i), @D - @)

| . PiThE:
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Which of the following is a pair of
exhaustible natural resources :

(A) Coal and Soil

(B) Air and Sunlight

(C) Water and Petroleum

(D) Wild life and Minerals

Coal is formed from the remains of -
(A) Vegetation only

(B) Animals only

(C) Both vegetation and animals
(D) Neither vegetation nor animals

Choose the correct statement from the

following :

(A) It is difficult to transport natural
gas through pipes.

(B) The disadvantage of natural gas is
that it cannot be used directly for
burning in homes.

(C) Natural gas is stored under high
pressure as compressed natural gas.

(D) Natural gas cannot be used for
power generation.

Choose the correct statement about
inflammable ~ substances from = the
following :

They have

(A) Low Ignition temperature and
cannot catch fire easily.

(B) High Ignition temperature and can
catch fire easily.

(C) Low Ignition temperature and can
catch fire easily.
(D) High Ignition temperature and
- cannot catch fire easily.
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The place meant for conservation of
biodiversity in their natural habitat are :

(i) Zoological garden

(ii) Botanical garden -

(ii1) Wildlife sanctuary

(iv) National park

(A) () and (ii) (B) (if) and (iii)
(C) (iii) and (iv) (D) (i) and (@iv)

A»Migratory birds fly to far away areas

during a particular time of a year.
Which of the following conditions
present in their habitat during that time
are responsible for this behaviour :

(i) Unavailability of food

(i) Extreme weather conditions
(iii) Over crowding

(iv) Lack of nesting areas

(A) (ii) and (ii}) (B) (i) and (ii)
(C) (i)and (iv) . (D) (ii) and (iv)

The change in seasons on the earth

occurs because :

(A) The distance between the earth and
the sun is not constant.

(B) The axis of rotation of the earth is
parallel to the plane of its orbit.

(C) The axis of rotation of the earth is
perpendicular to the plane of its
orbit.

(D) The axis of rotation of the earth is
tilted with respect to the plane of its
orbit.

If there were no atmosphere around the
earth, the temperature of the earth will :

(A) Increase
(B) Go on decreasing

(C) Increase during day and decrease
during night
(D) Be unaffected

PO
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Rainfall patterns depend on :

(A) The underground water level

(B) The number of water bodies in an
area

(C) The density pattern of human
population in an area

(D) The prevailing season in an area

The term ‘'water-pollution’ can be

defined in several ways. Which of the

following statements does not give the

correct definition :

(A) The addition of undesirable
substances to water-bodies

(B) The  removal of  desirable
substances from water-bodies

(C) A change in pressure of the water-

~ bodies

(D) A change in temperature of the

water-bodies

The pH of water sample collected from
a river was found to be acidic in the
range of 3.5 — 4.5, on the banks of the
river where several factories that were
discharging effluents into the river. The
effluents of which one of the following
factories is the most likely cause for
lowering the pH of river water ?

(A) Soap and detergent factory

(B) Lead battery manufacturing factory
(C) Plastic cup manufacturing factory
(D) Alcohol distillery -

Select the incorrect statement :

(A) Economic development is linked to
environmental conservation.

(B) Sustainable development
encourages development for
current generation and conservation
of resources for future generations.

(C) Sustainable development does not
consider the view points of
stakeholders.

(D) Sustainable development is a long
planned and persistent development.
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SFEFAT.

Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

Question Nos. 31 to 60 are related to First
language — Hindi OR English. Candidate has
to select the questions of only one language as
the First language. Answer the questions of
the language which the candidate has selected

as First language in his/her application form.

- Question Nos. 61 to 90 are related to Second

language — Hindi OR English OR Sanskrit
OR Urdu. Answer the questions of only one
language which the candidate has selected as
Second ianguage in his/her application form.
Be careful that the language selected as First
language cannot be taken as Second language.

- Question Nos. 91 to 120 are related “to

Mathematics.

Question Nos. 121 to 150 are related to
Environmental Studies. '

Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If
you cannot answer a question, proceed to the
next one.

Do not fold or damage the OMR answer sheet
any way.

After examination submit your OMR answer
sheet to the
allowed to take away the carbon copy of OMR

invigilator. Candidates - are

answer sheet and Question Booklet.



